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REVIEW KEY VOCABULARY (5Tuoy THESE) oL probiems at

the. end. 4
» variable, p. 2 » verbat-medel-p—e2— « formula, p. 30
« algebraic expression, p. 2 - rate, unit rate, p. 17 « function, p. 35 eTELMS
« evaluate an algebraic « equation, inequality, p. 21 * input, output, p. 35
expression, p.2 -apen sentence pgw— - domain, range, p. 35 « Facmas
* power, exponent, base, p. 3 » solution of an equation or -independentvakiable p-264£,
- order of operations, p. 8 inequality, p. 22 - dependent-variablep—6—S
« Solve, =

'VOCABULARY EXERCISES
In Exercises 1-3, copy and complete the statement.

1. In the power 7'2, is the base and Jgis the exponent.

Bk a‘t‘ioﬂi g

2. A(n) A _isastatement that contains the symbol =.
ALGERRAIL EXPRESS) N _

3. A(n) A_is an expression that includes at least one variable.

4. WRITING Describe how you can tell by looking at the graph of a function
@hich variable is the input variable and which is the output variable.

When you Look AT A GRAH,

e TWHE X-Axis ITd THE WwEUT ANOD
— wiper THE Y-AxXiy IS THE OuTPOT.

Evaluate the expression.

5. 3 +xwhenx =13 6. v — 2wheny=18 @ 78 %? when k=2 @

8. 40w when w = 0.5 9. z-when z = 20 10. 1w when w = 0.1

2-01:: (,[)”:Cl AD 1NCAL(.) :

11. DVD STORAGE A DVD storage sleeve has the shape of a square with an
edge length of 5 inches. What is the area of the front of the sleeve?
L4y G RAreo. = S+ Area. o+ Hhe, Front sleeve.
D - e
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12. NOTEPAPER You store square notepaper in a cube-shaped box with an
inside edge length of 3 inches. What is the volume of the box?

- I ‘i Volume. = 33 } Uoslime, o4 box 18 27 aub’c a.

— £ ATm>
m' Apply Order of Operations ‘ vo.8-12 |

Evaluate the expression.

13. 12-6+2 :|2-3=\ﬂ 14. 1+2.92=1+2.(e;) :@ 15. 3+2° -6 +2 3+3-3=@

16. 15 — (4 + 32) 17. 0125 @ . 50 — 2.

IS—(&%)‘E 52—1——33‘711:3!' N 5.2‘0-}7(;(343]35' s = |
Evaluate the expression when x = 4, . v =R = ]3’-8—5*
19. 15x — 8 20. 3x% + 4 21. 2(x — 1)?

IsW)-3=[53 | 3()*+t=)s5 | 2 (4-0)%: ;.323@
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ranslate the verbal phrase into a‘n_e}\t_pi1 23. 5 less than a number z )}__5_.

22. The ool of a number kand 7 lﬁﬂ 25. 3 times the square of a number x—— - —
= e — S R Y S — i
24. Tﬁ'é_qif)'ﬁéﬁt"(—)f‘&'hd'rﬁb'éi_k'ﬁﬁd'TZ"TK]"i _O-R K 212 , 3 Py X ar ‘SU

26. TOLL ROADS A toll road charges trucks a toll of $3 per axle. Write an
expression for the total toll for a truck.

KI: $3/axe m“l

ascles A= AXLES o

27. SCHOOL SUPPLIES You purchase some niotebooks for $2.95 each and a
package of pens for $2.19. Write an expression for the total amount (in

dollars) that you spend. Veeicbles
KT $2.45- NoteRet N2 & Nomegaws LQ.‘-}SN + .19 PJ
32,19 - Pews Sl

SR write Equations and Inequalities | pp.21-26 |

Write an equation or an inequality.

28. The product of a number z and 12 is 60. \ AL 60| of, E.i‘f_o_.-
26° The sum of 13 and a number ¢ is at—l.ea§t 24, 1347224

Check whether the given number is a solution of the equation or inequality.

30. 3x - 4 =105 Morsu| 3L 4y - 222, S0 e TITTE 7;m

3(-‘)“‘; 9 4(3)-27 2 2(D+y4 L2 (3)-7
\0
R %z T lo{zo T
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33. U.S.HISTORY The flag that inspired the national anthem was a rectangle

30 feet wide and 42 feet long. Pieces of the flag have been lost. It is now

30 feet wide and 34 feet long. How many square feet have been lost?

g4y .
- SFT
/ LoST 30xg = 240 LosTR40 s
Hot¥ oF Ths FLAG
34 Ly BEY

34. PATTERNS A grocery clerk stacks three rows of cans of fruit for a display.

Each of the top two rows has 2 fewer cans than the row beneath it. There

are 30 cans altogether. How many cans are there in each row?

CRewd (X, 3x-y= 39
Row 2
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m Represent Functions asRulesand Tables ~  pp.35.00
1

Make a table for the function. Identify the range of the function.

35. y=x-5 36. y=3x+1 - B
~ Domain: 10, 12,15, 20,21 Domain: 0, 2, 3,5

b4 12 Jis| 2|2 10
NIS |7 |lo] sl N | -‘,Ll)o 3|

Acnee: 5 7,10, 1 T
—— Ty PN TR, Range.: j
Write a rule for the function. ——8— ll i 10, 1L, 31 X |

38. I
37 Inputx 0, 21| 415 lnputx 101 3i4]6

Output, 41618109 Outputy | 0 | 15 ; 20 | 30 | o\“"
A9 AN 1w \s\;” wo
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Y=5X

Y1
39. Graph the function y = 4x — 3 with domain 1, 2, 3, 4, and 5. /
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40. Write a rule for the function represented by the  y/
graph. Identify the domain and the range of the
function. 4 %
Domain = | 3,587
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X= %o CANs om TP Row

EG: x4+ (44D 4 (ard
2xtl = 30
}T"e Rowss have § Cens , /0 Cons v ‘Zcens |

—




